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There are 30 questions in all.

All the questions are compulsory. However, internal choice has been given

in some questions.

Questions number 1 to 8 are multiple choice questions carrying 1 mark

each.

Questions number 9 to 14 are short answer questions carrying 2 marks

each. Answer to each of these should not exceed 40 words.

Questions number 15 to 20 are short answer questions carrying 4 marks

each. Answer to each of these should not exceed 100 words.

Questions number 21 to 24 are long answer questions carrying 5 marks

each. Answer to each of these should not exceed 120 words.

Questions number 25 to 30 are long answer questions carrying 6 marks

each. Answer to each of these should not exceed 150 words.
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(a) fafer 1 smem o1 fagrd

What is the ‘mode’ adopted for execution of transfer of property by
exchange ?

(a)  Registered sale deed
(b)  Registered lease deed
(c) Registered deed for gift of immovable property

(d)  No registered document is required
OR

The expression ‘rule by law, rule under law and rule according to law’
describes which principle doctrine of administrative law ?

(a)  Principle of Natural Justice
(b)  Doctrine of Separation of Powers
(c) Doctrine of Basic Structure
(d)  Principle of Rule of Law
3 P.T.O.



40

AT B BT A T A H TR TH G JHAST B TR M e AR I
|

;ﬁaﬁﬁﬁmﬁ%ﬁﬁﬁwwé?

(%) UH TG Bl s o AT T T BT STAF Fed T8l 2 |

g) SATCHET o ToTT el S ol =iie JgamT 3190y 81 2 |

TG T 1 1T | =i TgaTs T8 I I8 AW Hd @ |

‘wekew Twa’ qen T e’ 1 o sufeda €, safae geen me sy

o e IaeerEt 7 |

A security guard at a museum shoots an armed intruder who tries to

breach the security barrier.

Which of the following is true in this situation ?

(a)  Using force to prevent a crime as part of one’s duty is not a
criminal act.
(b)  Causing injury to an assailant in self-defence is not a crime.

(c) The injury is caused with the intent to take revenge and thus the
act is criminal.

(d)  Both the elements of ‘actus reus’ and ‘mens rea’ are present so the
security guard is criminally liable.

. ghidd Ug S8 O Higd Ush HER UTSel Eiieal & | Indl 1afy § & Ugel
3 © M &l AT | IcATesHh IR fshal QM1 &1 HEAT G 81 L U HR Th
forare 3cu= & 1A 2 | 39 faaTe il g v < gaiaw oty 8 dehdt @

(%) AT
(@) g
(@)  foamm
()  aratery

Mohan purchases a mixer-grinder from M/s Makil and Bros. The grinder
malfunctions within the warranty period. Both the manufacturer and the
seller fail to rectify the problem and a dispute ensues. The dispute may
best be resolved through

(a) mediation

(b)  conciliation
(c) arbitration
(d) negotiation
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Sadanand is a florist who relies on local flowers for his livelihood. The
district administration prohibits the plucking of wild flowers to conserve

the local flora and fauna. Is Sadanand’s constitutional right infringed
upon ?

(a)  Yes, his sole means of earning a living is affected.
(b)  Yes, Article 21 gives the fundamental right to life.
(c) No, the government is powerful and can make any law.

(d) No, because the government is sovereign and enacts laws for the
common good.

OR

Which of the following provisions of the Indian Constitution is not based
on the ‘equality principle’ ?

(a)  Abolition of untouchability

(b)  Equality of opportunity in matters of public or State employment

(c) Prohibiting State from discriminating against anyone based on
grounds of religion, race, caste or place of birth

(d)  Prohibiting human trafficking, beggary and forced labour.

5 P.T.O.
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The State Bar Council is constituted with 15 advocates elected for a term
of five years. Who will be the chairman of this council ?

(a) President, All India Bar Council
(b)  Attorney General of India
(c) Advocate General of the State
(d) Law Minister of the State
OR
Professional education of lawyers in the US after admission to Bar is called

(a)  Continuing Legal Education

(b)  Bar Vocational Course

(c) Graduate Diploma in Law Course
(d)  Multistate Bar Examination

YT o NS Tgarhe & dey § fmfefad o & aua =t (31fg av o1=e) g . 1

(%) Tordl =T § GE TSalhe o HGRITIER A W 986 Ll 3 |
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With regard to a senior advocate in India, pick the odd one out.

(a)  Argues cases in court upon instructions from another advocate.

(b)  Officially designated as such by the Supreme Court or High Court.

(c) Wear gowns that have flaps on the shoulder.

(d) Can directly accept an engagement to appear in a case or draft
pleadings.
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IHIAd T8 Ugdlhe T odl fasTua & grI 319+ UTgehi sl g ol o
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Arjun Bedi, a practising advocate decides to expand his clientele by
advertising his services. Through which of the following is promotion of
his services permissible in India, in this context ?

(a) Interviews in the newspaper

(b)  Furnishing and inspiring newspaper comments

(c) Circulars and advertisements

(d)  Website information regarding areas of practice

FSTHI SHIHIH ATHh SeAlehid HdTeleh T UTEh 4 AT T 2 foh a8 At
gl (SR®) Fommedi &I AU dsEe W @ESe T8 sl |
TRUTHESEY TTeehi 1 e areft g SIHeit # T8 gt it 39 W fyang e
B AT 2 | 39 GEAT hl UgA ShiIfT S 39 GG § a@d ot difed UTgehl i
TrEd fea |

(%) cftenm foarg e qen e wfereptor

(@) T BRa et

() e TRITEfeR TRt

(F)  TST Tl SRRt

Badafon Infocom, a telecom operator is accused by customers of not
making its tariff plans public on its website. Consequently, discounts
available to customers remain unknown and a dispute ensues. Identify
the body which can intervene in the matter and bring relief to the
aggrieved customers.

(a)  Telecom Disputes Settlement and Appellate Tribunal
(b)  National Green Tribunal

(c) Central Administrative Tribunal

(d)  State Administrative Tribunal

7 P.T.O.
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SECTION B

ST 3 O S & g I U W EHcd TR BEATdNG L fau 8§ 31T

o e fraifeq it SR R | sEek foT g wedl @l U SEwEeh S

iteitehar g &l 2 |

(%) 39 METIS R AT Hl T8 HINT |

(@) 3T (%) H Ig=T TS SRl Sl YU HH o fow g 3rdt @i fofew |

Shreemala has transferred her ownership rights in her property by way

of sale and a sale deed is to be executed. For this an essential legal

formality is to be done by both the parties.

(a)  Identify this essential legal formality.

(b)  State the two conditions to be fulfilled for completing the formality
identified in (a) above.

T hid Peed] hl TH.EI. S ] HET HRX I6eh! HfHeh A+ H T faamg
3cqd g1 Srar B | faarg o ) uedt 9 it oA S (3= ST % STaehiel T
wﬁm)ﬁmaaﬁ@w%wﬁwgmﬁ%mﬁgﬁm | oft st
J Ueft I GYa 9™ g | & 8 feufa O wH-Et ADR 1 STHER BT 39!
Jgu <hIfSY 3T JHeATsT |

HAAT

Tsh G < el HUH 9 eBA F aRl H 7 & e of dsfa g %
A % FO T B @ia 7 | WMy & IEes ggEl ot arforn @ie ge Wm |
AT IET IO KL <l & | ot goiia ot anfern @ 37 @i &1 319 fhem
M B of S T STUY LT 2 fohg 98 T R <1 B |

W W UG gH a9 faarg o Fuer % fou dwfeys faag wmam gie &
g HifT 3R 38 9IS |

A dispute arose between Mr. Shalu Kapahi, MD of a glass factory and its
workers’ union. The disputing parties appointed Mr. Manoj George
(a retired High Court Judge) as a neutral third party to intervene and
resolve the matter. Mr. George suggested potential solutions to the
parties. Identify and explain which ADR is followed in the given
situation.

OR
A utility company digs up a section of the lawns of Mr. Sanjeev Kumar to
repair the telephone lines. Soon, his neighbour, Mr. Walia, starts to grow
tomatoes in the dug-up patch. Mr. Sanjeev requested Mr. Walia to shift
the plants to his kitchen garden but he refused to do so.
Identify and explain the alternative dispute resolution technique that is
best for resolution of the dispute that ensues.
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ST i 3R SRE foedd Tk Wl o |ien Hifds & | $TH 9sAl g
foeg eht Eig & 9N H TH 91 1 AT R AT 8 | 3 < <l fafy
JurTel! # =rnefts el & faareed qeAt iR HiHell ol 9F Ral 8 | SH oW
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Jonathan Leeman and Jared Wilson are co-owners of a restaurant. The

former files a case against the latter for fraudulent transactions. In the
legal system of their country, the judge determines the facts and issues in
dispute. Identify the legal system of this country and state one of its

disadvantages.

JATH TS o [oTC lcteh! ST hl ITeh dfd 3TN TYUS el 4 FHEIarga
s 1 | gfetd 7 wom g1 fui (FIR) SIfad ot & SR o T aifeh
35k TYUA It 39 & o ATl A § |

() 38 TEAT ! IGAM HISQ T8I 98 AT h Y 1 Fhell 2 |
(@) 39 gen & Tl Q1 Afeepri =1 fafau s fafeer =meme™ & sam & |

Malika Arora was mercilessly beaten by her husband and in-laws for

insufficient dowry. The police refused to file an FIR because her in-laws

are very affluent merchants in the area.
(a)  Identify the body she can approach for relief.

(b)  State any two powers of this body similar to that of a civil court.

o el I g yg@ faemyand fafe |
T

T & Hfifd fewes It it 2 yg@ faemand fafew |

Mention two salient features of Fundamental Duties.
OR

Mention two salient features of Directive Principles of State Policy.

Teh USdIohe o fehral @l SATGHETRIeh shdsdl i fifigu |

State any two professional duties of an advocate.

9 P.T.O.
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“rerarfeteRt sht TdsdT qen iR < e € Tase Heheud e &, TR o
3 I GROMST 1 AT FRIfAd &9 4 foham ST =1fgu il 3ehT 324
T &} 17 gE A gren & foe e yaue 1 Sg@ e §U S e
&1 Nfacy fag i |

“Independence of judiciary and impartiality of judges exist as two distinct
concepts, yet these concepts must be studied in conjunction as they aim
at achieving the same goal.” Justify stating the constitutional provisions
for safeguarding both.

TG o Flag™ § Yfassifud 37 IaaMl ! T hifSrT St 9Rd o ARl bl
foraes qon g <l Taaaar <ot WG i gH - 9gEE ed B |

Explain the provisions enshrined in the Constitution of India that make
India a secular entity by giving its citizens freedom of conscience and
religion.

g faesht fafr & veemeifem = vy 8 Afeeq any @ Y sEa &
fore arfea smemsti & fofaw |

HAAT

Ugdlched UdE 1961 @ a1 WRd H fafess sya@mesdtsti 6t AR i T
HIfT |

State the requirements to be fulfilled by law aspirants, both Indian and

foreign national, to be able to start practice in India.
OR

Explain the categories of legal practitioners in India after the Advocates
Act, 1961.

e HIVE o ARd # IfcdiaTede (TSaHiiad) Jumelt | =T 9 959 i ohdl
g o1 fean 2 |

Explain how the adversarial system in India made access to justice
difficult.

10
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AT Hedm dgH % fou fou gu =m "l # ¥ fFgt 7 % 3 IR
yferht =l feafee 4
(%) fava @ F@eq

(@) o g A, S i aeER ST

(M) SIS 5w FiTe

(=) fova & qen sraUsdT ggT iy

State the aim and role of any two of the four given organisations to

promote international cooperation :

(a)  World Health Organisation

(b)  United Nations Educational, Scientific and Cultural Organisation
(c) International Labour Organisation

(d) World Bank and International Monetary Fund

d FAYTHR 3T S Harsd A bl faarel W vty e 3 qumst e <l
aufd T 8, STefiFEy ARl ¥ A § | B b 9N H IwqH e A
ot et feurfa (eiiera w=0t) =t frfdrer o feam 2 ot 3t &t vga W
TTdT(-eh HETd o AT i IRY 53T # | 4
(%) ‘orfeeniiies feufd (eiehm T<t) o1 am 27 8 2

(@) 3o ffoaar iU S & forg YR i STER =Rk JrTe 1 g9
BT 8 ? 30 TR hl SFHTERYT =TIk JOeH hl #h1g &1 foRiyamy fAfey |

The constitutional imperatives that permit the Supreme Court to
adjudicate and advise on disputes, come from the sub-ordinate courts. In
the recent years, the Supreme Court has relaxed its locus standi and has

on its own initiative started cases of public importance.
(a)  What is the meant by ‘locus standi’ ?

(b)  Which form of extra-ordinary jurisdiction has been created by its
relaxation ? State any two characteristics of this form of
extra-ordinary jurisdiction.

11 P.T.O.



21.

22.

23.

40

wus ¥

SECTION D
WAl I FHUeH H S 1 IR I8 g3 & Tob URUNe WRA™ =IerEl § gd
T O dfea & | o ot foarg fue & s=1 @gAl & SRu = gorelt |
<l 1 fergame gsfiferd &1 @1 R |
(%) 39 JUTTell Shi 989 Shifore fad I8 99 g # |
(@) =M YgH & 6T 38 Jurell & =’ oy fafau |

Delay in disposal of cases has resulted in huge pendency in traditional
Indian courts. However, litigants’ faith in justice delivery mechanism has
been reviving due to other means of dispute resolution.

(a)  Identify the system that makes this possible.
(b)  State four benefits of this system of dispensing justice.

SP el o 3TN, EUIE . T 99 ol TfUhd 99 WS T Fhd™l | I8
T & Peale W W @l o7 AR At ftax 18 oft 7 off fp wewer 7 T °
TTAh H1 TH TAH % foIC H7 e | v Tt srua-amy B wgfera T @ weht
3 =erdt o & = iR 1 e 3@ mefi = o |

38 &fd FE (2 @) & fHga H TgaHR W Fussy Tk @ 98
Afegfd 1 graT X Fehdl B | A9 IW F THIT H T Fvfla AR H1 S
Qe |

Ishwar Devi stopped the bus of P.R. Transport Corp. at its authorized bus
stand. She had placed her foot on the foot-board of the bus and had not
yet gone in, the conductor in great haste called on the driver to start the
bus. Ishwar Devi could not balance herself and fell down from the moving
bus and sustained serious injuries.

Identify and explain the principle of tort law under which she can claim
relief. Cite a decided case in support of your answer.

4291 G AEH, 1976 1 URAE Uil W TRl

(fesiamssied)’ & I 1 UG TohaT AR TRME  —Ammieeh sifefm,

1985 o AT B § WIS =19 JOTeA! 1 HRIfhehTol g3 |

(%) 4odaf Ty AffEH, 1976 3 YT =ARAiee # fRE TSR
ATATIIRTOT 7T ST FAITT Tehall ?

(@) YSmEfIs =AM AT, 1985 & Il fohd g1 AT <l
TS BT ?

() —FrETtereRer S YUt % @y ferfay |

(|)  “mafeeRen 1 aread Tl Sl T TE0 HT T8 8 |7 U, o
FUR AT H Falwd =T 3 38 STEdfaehdl sl el THIATIT B ?

arrat
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“Tq I (ATTEATH) 1 39T TR HHENE & gEEh N YR &

ST T HEAT BT 8 |7 38 6 Bl Th ATIFET § =9 319 wge foham

g |

(%) 3@ fafa (cifseem) 6 ggem Fifv |

(@) 3@ fafy & Himr & A afmfad o sd=rfa 6 S &1 3k 396
Jvaret 1 it 3g@ HIY |

(M) 3@ fafyr & 3rd@ria SiE-gedrer 1 weor Hifu | 5

4274 Amendment Act, 1976 ushered the era of ‘tribunalisation of Indian

judiciary’ and the enactment of Administrative Tribunals Act, 1985

empowered the justice system of India.
(a) How did the 4229 Amendment Act, 1976 usher the era of

‘tribunalisation of Indian judiciary ?

(b) Name the two tribunals that were formed under the
Administrative Tribunals Act, 1985 ?

(c) State the procedural benefits of a tribunal.
(d)  “Tribunals are not meant to replace the courts.” How has the
Supreme Court explained this fact in L. Chandra Kumar case ?

OR

‘The legislation aims to combat the acts of bribery and corruption of
public servants’ — a term that has been given a fairly wide interpretation
in the Act.

(a)  Identify this legislation.

(b)  State the categories of public servants included within the purview
of this legislation and the exceptions therein.

(c) Examine the conduct of inquiry under this legislation.

(%) IS UTHAT Aok ASIAd ol el FEATANG TohAT ST HehelT & 2

(@) <% 31gerd & AR fafEu | 5
(a) When can a case be referred to Lok Adalat ?
(b)  State the powers of a Lok Adalat.

13 P.T.O.
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TRl =ITTHieT Wl FeTT ST o STMYRT 1 Ieoi@ hd §U WRAE Fard ATt
% fopeft =manefisr W wRIfiRT T <h wfshan 1 wwesT |

Stating the grounds for removal of a judge, explain the process of
impeachment of a judge of the Supreme Court of India.

foeam St femfon suifee wga @ Raartest o fog fisaheia gfweor Bifer

GATAd i o TOTL Teh TIFY AT 8 | fobrg TTIHAT T 98 SHR 98 I1aT 3 3R

fRrfer <1 Hemer & X urar |

(%) 39 3FY B ger I fafy (W 1% femmd) Hi vgam Fifdw it
g T |

(@) femfn smfere wpa & foe o gfoer (W) sy 8 2

(71) 3| uiawR | Ffgd o i Toee HiT |

Wilson George enters into a contract with Neelamani Memorial School to

conduct a summer coaching camp for athletes. However, during the
summer, he falls ill and is unable to conduct the camp.

(a) Identify and explain the mode of discharge of this contract.
(b)  What is the remedy available to Neelmani Memorial School ?
(c) Explain the rationale behind this remedy.

g # fafyr Eraent & fou 3uarey fosredi 3t 199U | © fongl 98 1 auiA
S |

Describe any six options and opportunities open to law graduates in
India.

fafeer wan wiieetor stfuf=m, 1987 % i@ I Ha1 J&H & o faQ
Heard TR o foheal ©8 Yehrl ol T hHIfY |
AT

NALSA faf@m, 2010 st fomsarsti st aw=mse |

Explain any six functions of the Central Authority to provide legal aid
under the Legal Services Authorities Act, 1987.

OR
Explain the features of NALSA Regulations, 2010.

14
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St ATt 1 | 6 U Tauisd TRy SiHAl # aud seH 7g
WHO g U T 1 A=A R T | 91T o ol e% Tsh &Y W
FEATET oL TTEe HaTeli Sl TG S 3q He9d §C | 39 Hey |

(%) @y ot afenfyg Hifse |

(@) wfr i gl &t foowaredt o1 sg@ Fifs |

(m)  @fReEl % g 2w fohw YR w1 B § 2

HAAT

STel GEAHT ! AT H ATHAT o AU L T Y T T7 | 38 Hey
|

(%) 39 AU TS hl UgaH IS St 3Tk foeg Hrdamg Iy o
TehdT B 3R 38 fagm i vgam Hifve ek grr 38 s = ™ |

(@) 39 uue & A o1 3g@ e S 3@ Tred & g fuern s
gohal ? |

() 39 aliss W ==l shifoe fore® 98 91T U8 A BT H ofdT # |

A convention is organized by the WHO to bolster coordination of

international health workers to combat the ‘Zika’ virus. Participating
countries agree to strengthen health services and take emergency
measures through the signing of a treaty. In this context,

(a)  Define treaty.
(b)  State any two features of a treaty.

(c) How are countries bound by treaties ?
OR

Jerbo Mustafa was indicted on charges of committing ‘crimes of
aggression’ in Aleppo. In this context,

(a)  Identify the international organisation that can initiate action
against him and the statute that led to its creation.

(b)  State the categories of crimes that can be dealt with by this

organization.

(c) Discuss the manner in which this organization takes up cases.

15 P.T.O.
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2 3 et & 7 § | 3% R o OB O WA % e AR

()

(@)

AT ! BT 3R Sehdll o IR W gog T8 feam T | A9H HIE o g
30 W i fag fope s i fafy @ S erferestian o g 38 3rehett
HIS T W@ T | I9hH! I 3= ey H fommea 7 |

Sohdl o AT H AT Tgh 98 Pl —AREH o g1 Tedi o WG §

Bt fean T | I vew yfew fafem wes fig & W wa # W

g FR/EEeht idafafy S et iR St stiuemia g qsae

1 ergafa & § |

() wgETHY fop 3udh @ "wel 4 fohe qor tfohR 1 3gEF g3 § |

(i) 3T ATTVE o YEYHI hl T HIfT Feeh Igea Hida a |
TIAE |

(iii) G MR wes fig f5 snamd W sifuemfat & st & gt g
gohd & ?

Given below are two situations. Read them and answer the questions
that follow :

(a)

(b)

Sunil was sentenced to death on charges of murder and robbery.
He was held in a solitary confinement by the jail authorities since
the date of his conviction by the session court. Appeal against the
decision is pending in the High Court.

Kharak Singh, an accused in dacoity case was let off due to the

lack of evidence by the court. Uttar Pradesh police regulations

allowed domiciliary visits at night, secret picketing of Kharak

Singh’s house, tracking/verifying his movement and periodic

inquiries by officers.

(i) Identify the fundamental right violated in the above two
situations.

(i1) Explain the provisions of the article that is alleged to be
violated.

(iii) On what grounds can Sunil and Kharak Singh challenge the
actions of the authorities ?
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